Linear relation adapted (a)CIELAB ( C*,p 5 L*) and relative CIELAB ( c*, t*)
System: JE28_SRGB dispay 0%.C0_ ™ =(.1 - L)1 L1y -L'n
FEEs NG00 lap = apr = C*jap+ [*m = 0.5]
C*lap*=C*apa/ C*an,am
M=Maximum colour

triangle lightness  t*|gp+

(€ t'm)

iclativechroma c*jgp+




Linear relation adapted (a)CIELAB ( C*,p 5 L*) and relative CIELAB ( c*, t*)
System: JE28_SRGB dispay 40%-G0 i (1, - L) L1y -L'n)
FEEs NG00 lap = apr = C*jap+ [*m = 0.5]
C*lap*=C*apa/ C*an,am
M=Maximum colour

triangle lightness  t*|gp+

(€ t'm)

relativechroma c*|gp*




